#1568



Line#	Part Number	Part Description		Qty	Unit	Extended
KCU						
1	APF1848	Fence Frame, 48Wx5D		1	\$588.00	\$588.00
2	APC0936A	Wall Cover, Acoustical/Tackable Upho	olstered, 36Wx1Dx9H	2	\$160.00	\$320.00
	20 (W1695) W169510	OPT: Fabric Group 20 FABRIC: Photon II COL: Electrum	Fabric Group Selection Fabric Group 20 Selection Photon II Color Selection			
3	APCOC	Outlets Cover, 12Wx1Dx9H		2	\$588.00	\$74.00
	(CORE) 613	Core Paints PAINT: Silver	Paint Finish Type Paint Finish			
4	APC0948C	Cable Tray Cover, Aluminum, 48Wx1E	Dx9H	2	\$160.00	\$320.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
5	APF1848	Fence Frame, 48Wx5D		3	\$588.00	\$1,764.00
6	APC0948C	Cable Tray Cover, Aluminum, 48Wx1E	Dx9H	4	\$160.00	\$640.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
7	APC0948S	Slatwall Cover, 48Wx1Dx9H		2	\$141.00	\$282.00
	(CORE) 613	Core Paints PAINT: Silver	Paint Finish Type Paint Finish			
8	APC1848A	Wall Cover, Acoustical/Tackable Upho	olstered, 48Wx1Dx18H	2	\$588.00 \$160.00 \$37.00 \$160.00 \$160.00 \$141.00 \$352.00 \$107.00 \$588.00 \$141.00	\$704.00
	20 (W1695) W169510	OPT: Fabric Group 20 FABRIC: Photon II COL: Electrum	Fabric Group Selection Fabric Group 20 Selection Photon II Color Selection			
9	APCOC	Outlets Cover, 12Wx1Dx9H		2	\$37.00	\$74.00
	(CORE) 613	Core Paints PAINT: Silver	Paint Finish Type Paint Finish			
10	APC0936S	Slatwall Cover, 36Wx1Dx9H		2	\$160.00 \$37.00 \$160.00 \$160.00 \$141.00 \$352.00 \$107.00 \$588.00 \$141.00	\$214.00
	(CORE) 613	Core Paints PAINT: Silver	Paint Finish Type Paint Finish			
11	APF1848	Fence Frame, 48Wx5D		2	\$588.00	\$1,176.00
12	APC0948S	Slatwall Cover, 48Wx1Dx9H		2	\$141.00	\$282.00
	(CORE) 613	Core Paints PAINT: Silver	Paint Finish Type Paint Finish			
13	APC0948C	Cable Tray Cover, Aluminum, 48Wx1E	Dx9H	2	\$160.00	\$320.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
						Page 1 of 4

#1568



Line#	Part Number	Part Description		Qty	Unit	Extended
14	APC1848A	Wall Cover, Acoustical/Tackable Upholstere	ed, 48Wx1Dx18H	2	\$352.00	\$704.00
	20 (W1695) W169510	OPT: Fabric Group 20 FABRIC: Photon II COL: Electrum	Fabric Group Selection Fabric Group 20 Selection Photon II Color Selection			
				Sub-Total		\$7,462.00
KAS						
15	APT1C48	Crown Top Cap, 48W, low profile		9	\$34.00	\$306.00
	812	TRIM: Easy Grey	Plastic Trim Finish			
16	APTL48	Crown Covers (pair), flat, low profile, 48Wx	5Dx1H	9	\$95.00	\$855.00
	612	PAINT: Medium Metallic Grey	Paint Finish			
				Sub-Total		\$1,161.00
KCU						
17	AROF	Blank Filler Plate (10) for Currents Wall Cov	ver	3	\$43.00	\$129.00
18	AX1AF18L	Flat End, 5Dx21H, for use with Autostrada f covers	lat, low profile crown	4	\$176.00	\$704.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
19	AX1LEG	Fence Leg, 2-3/4Wx4Dx18-1/2H		14	\$90.00	\$1,260.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
20	AX1Y18	Fence Y Connector, 6-1/2Wx5-1/2Dx19H, 1	20 Degree	2	\$34.00 \$34.00 \$95.00 \$43.00 \$176.00	\$402.00
	(CORE) 612	Core Paints PAINT: Medium Metallic Grey	Paint Finish Type Paint Finish			
				Sub-Total		\$2,495.00
KDH						
21	DS4LC1BVV48N	Horizon Credenza, Single Depth, with Vene Top, 48W, no Lock	er Sliding Door, Veneer	4	\$2,457.00	\$9,828.00
	612T Y316 Y316 Y316	PAINT: Medium Metallic Grey (Textured) V1: Maple FCSM (CORE) EDGE: Maple FCSM DOOR: Maple FCSM (CORE)	Paint Finish V1 Techwood Veneer Finish V1 Finish V1 Techwood Veneer Finish			
				Sub-Total		\$9,828.00

KES

#1568



Line#	Part Number	Part Description		Qty	Unit	Extended
22	OAK21ALBK16	Adjustable Keyboard Support, 21" Sw Lift Arm, 16" Track Length	vivel Platform, Advanced Easy	6	\$544.00	\$3,264.00
23	COPE01	Copeland Light with Standard Arm		6	\$237.00	\$1,422.00
	SV	FINISH: Silver	Finish Selection			
24	COPE01BASE	Copeland Light Standard Base		6	\$129.00	\$774.00
	SV	FINISH: Silver	Finish Selection			
25	SAPMASCLMPK	Sapper Single Arm Kit, table clamp m joints, adjustment knob, cable manag		6	\$452.00	\$2,712.00
	613 B	PAINT: Silver (Made in USA) KNOB: Black	Finish Selection Adjustment Knob Finish Selection			
				Sub-Total		\$8,172.00
KSS						
26	111HP4SXHC	Generation by Knoll task chair, high performance arms, polished aluminum base, standard cylinder, no lumbar, hard casters, knockdown		6	\$2,233.00	\$13,398.00
	LT 04 USF ~ (DL) DL301	FINISH: Light BACK: Desert SEAT: Ultra Seat Foam Standard Textile or Leather LEA: Ducale (X) COL: Agua	Finish Color Back Color Seat Option Material Type Textile Selection Ducale Color Selection			
				Sub-Total		\$13,398.00
KUP						
27	AUPS48S4	Rectangular Table Desk, four legs, 48	8Wx22Dx25-30H	2	\$544.00 \$237.00 \$129.00 \$452.00	\$1,426.00
	(CORE) 125 (EDGEN) 813 (CORE) 612 G	Core Laminates LAM: Natural Maple Core Edgebands EDGE: Trim Grey Core Paints LEG: Medium Metallic Grey OPT: with Glides	Top Laminate Type Laminate Finish Edge Finish Type Edge Finish Leg Paint Finish Type Leg Paint Finish Caster/Glide Selection			
28	AUPV48S5	Corner Table Desk, 120 Degree, 48Wx22Dx25-30H		6	\$1,192.00	\$7,152.00
	(CORE) 125 (EDGEN) 813 (CORE) 612	Core Laminates LAM: Natural Maple Core Edgebands EDGE: Trim Grey Core Paints LEG: Medium Metallic Grey	Top Laminate Type Laminate Finish Edge Finish Type Edge Finish Leg Paint Finish Type Leg Paint Finish			

#1568



Line#	Part Number	Part Description		Qty	Unit	Extended
	G	OPT: with Glides	Caster/Glide Selection			
				Sub-Total		\$8,578.00

Grand Total

\$51,094.00